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Consider the following statements about the

Indian Pharmaceuticals industry:

1. Itis the largest Pharmaceuticals industry
in the world in terms of volume.

2. It is the largest provider of Generic
Drugs globally.

3. 100% FDI is allowed in both greenfield
and brownfield projects.

Which of the statements given above is/are

correct?

(@ land 2 only

(b) 2 only

(c) 1and 3only

(d) 1,2and 3

Consider the following statements regarding

the G20-OECD Tax Framework Agreement:

1. This agreement does not cover digital
companies like Google.

2. This framework proposes a maximum
corporate tax of 15 percent.

Which of the statements given above is/are

correct?

(@) 1only

(b) 2 only

(c) Both1and2

(d) Neither 1 nor 2

Which of the following are the components
of Revenue expenditure of the Government
Budget?

1. Interest payments

2. Defence services

3. Subsidies

4. Investment in shares

Select the correct answer using the code
given below.

(@ land 2 only

(b) 3and 4 only

(c) 1,2and 3only

(d) 2,3 and 4 only
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Rakesh lives in a village where the only
source of employment is agriculture. He
works productively for five months in the
agricultural fields and gets no work in the
remaining part of the year.

Which of the
unemployment is best described in the

following types of

passage given above?

(a) Seasonal unemployment
(b) Disguised unemployment
(c) Structural unemployment
(d) Cyclic unemployment

Infrastructure status given to various sectors

in the economy is granted by which of the

following?

(a) Department of Financial Services
(DFA), Ministry of Finance

(b) Department for Promotion of Industry
and Internal Trade (DPIIT), Ministry of
Commerce and Industry

(c) Department of Economic Affairs (DEA),
Ministry of Finance

(d) Reserve Bank of India (RBI)

Which of the following is/are the main

objectives of setting up Special Economic

Zones (SEZs)?

1. Promotion of exports of goods and
services

2. Promotion of investment from foreign
sources

3. Generation of additional economic
activity

Select the correct answer using the code

given below.

(@) 1only

(b) 2 and 3 only

(c) 3only

(d) 1,2and 3
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